OPEN GAP FILL OGF001

Read the text about time travel. Think of ONE word that best fits in each space.

Time Travel

The film that | saw (1) night wasn’t very good. It was all (2) aman (3) built a
time machine so he (4) travel back in time. It took him ages and ages (5) build the
machine.
(6) first he didn’t succeed, and there were various disasters because he hadn’t been (7) to
solve all the scientific problems. As time (8) on he finally managed to build the machine.
He wanted to travel to the Stone Age, and in (9) to get there he had to pass through a black hole (10)

space. (11) his journey there were some good special effects, (12) they
weren’t (13) good as the effects in Star Pilot 4.
Anyway, his machine didn’t have (14) power to get all the way back to the Stone Age. He only got to the

last century,(15) was a bit ridiculous after all the trouble he’d (16) to.



KEY

(1) that, at

(2) about

(3) who

(4) could

(5) to

(6) At

(7) able

(8) went

(9) order

(10)  in

(11) During , Throughout
(12) but

(13) as

(14) the, any, enough
(15) which

(16) gone



